

General Qualifications Fees List November 2020 and January 2021

Effective from 1 August 2020 to 30 January 2021



Introduction

The fees published in this booklet are effective from 1 August 2020 and are based on current administrative procedures.

Fees quoted are accurate at time of publication. OCR reserves the right to amend fees at any time and will notify changes in any subsequent versions.

What's included in the qualification fee?

Candidate entry	As stated in Fees List
Certification	√
Candidate withdrawal	Refund provided withdrawal made within: - one month of entry closing date (GCSE or similar-sized qualification) - two months of entry closing date (A Level or similar-sized qualification) - or on production of medical certificate thereafter
Option change (amendment)	Refund of initial entry fee provided option change made within one month of entry closing date
Tier change	Refund of initial entry fee
Post-results services clerical re-check	Refer to Post-Results Services fees document
Replacement certificates	Refer to Post-Results Services fees document
Active Results	\checkmark
Customer support (Dedicated UK-based customer advisors) available Monday–Friday 08:00–17:00	√
Customer Support Managers (providing support, training and guidance for centres administering OCR qualifications)	√
Access to OCR's secure website, Interchange, the OCR website and CPD Hub for both resources and materials	✓

Funding

For detailed information on funding policy please visit the relevant agencies' websites.

For school, 16-18 and 19+ funding in England:

- Education & Skills Funding Agency
- Section 96 for qualification approvals

For funding rate information in England, LARS

ESFA: funding rates and formula

For funding policy information in Wales:

· The Welsh Government

For funding policy information for Northern Ireland:

- Department of Education
- Department for Employment and Learning

Further information

Further information about administering our qualifications can be found on the OCR website:

- Centre approval
- · Key dates and timetables
- Access arrangements
- Entries
- Assessment
- · Special consideration
- Malpractice
- Results
- · Post-results services
- Certificates

Any changes to qualifications will be communicated to centres in our <u>subject information updates</u>, which are also emailed to exams officers on a monthly basis.

Contents

AS and A Level (Reformed)	Ę
Core Maths Level 3 Certificate	(
Legacy AS and A Level	7
GCSE (9-1)	3
Project	ę
Fees for late entries, withdrawals, entry amendments and transfer of candidates	10
Changes	11

AS Level and A Level (Reformed)



AS Level

Entry Code	Title	No. of Units (where applicable)	Unit Fee (where applicable)	Subject Fee (per Candidate)
H007	Ancient History			81.00
H206	Art and Design: Critical and Contextual Studies			64.75
H201	Art and Design: Fine Art			64.75
H202	Art and Design: Graphic Communication			64.75
H203	Art and Design: Photography			64.75
H204	Art and Design: Textile Design			64.75
H205	Art and Design: Three-Dimensional Design			64.75
H200	Art, Craft and Design			64.75
H020	Biology A			68.25
H022	Biology B (Advancing Biology)			68.25
H031	Business			66.00
H032	Chemistry A			68.25
H033	Chemistry B (Salters)			68.25
	Classical Civilisation			81.00
H044	Classical Greek			81.00
H046	Computer Science			64.75
H004	Design and Technology: Design Engineering			86.00
H005	Design and Technology: Fashion and Textiles			86.00
H006	Design and Technology: Product Design			86.00
H059	Drama and Theatre			64.75
H060	Economics			66.00
H070	English Language			64.75
H074	English Language and Literature (EMC)			64.75
H072	English Literature			64.75
H010	Film Studies			66.00
H235	Further Mathematics A	3	25.00	75.00
H635	Further Mathematics B (MEI)	3	25.00	75.00
H081	Geography			66.00
H014	Geology			74.25
H105	History A	2	33.00	66.00
H043	Latin			81.00

A Level

Entry Code	Title	No. of Units (where applicable)	Unit Fee (where applicable)	Subject Fee (per Candidate)
H407	Ancient History			140.00
H606	Art and Design: Critical and Contextual Studies			102.75
H601	Art and Design: Fine Art			102.75
H602	Art and Design: Graphic Communication			102.75
H603	Art and Design: Photography			102.75
H604	Art and Design: Textile Design			102.75
H605	Art and Design: Three-Dimensional Design			102.75
H600	Art, Craft and Design			102.75
H420	Biology A			104.75
H422	Biology B (Advancing Biology)			104.75
H431	Business			101.50
H432	Chemistry A			104.75
H433	Chemistry B (Salters)			104.75
H408	Classical Civilisation			133.00
H444	Classical Greek			124.50
H446	Computer Science			102.75
H404	Design and Technology: Design Engineering			160.00
H405	Design and Technology: Fashion and Textiles			160.00
H406	Design and Technology: Product Design			160.00
H459	Drama and Theatre			120.00
H460	Economics			101.50
H470	English Language			102.75
H474	English Language and Literature (EMC)			102.75
H472	English Literature			102.75
H410	Film Studies			101.50
H245	Further Mathematics A	4	30.60	122.40
H645	Further Mathematics B (MEI)	3/4	61.20 / 40.80 / 20.40 *	122.40
H481	Geography			110.00
H414	Geology			114.00
H505	History A	3	27.25	81.75
H443	Latin			135.00

^{*} Further Mathematics B A Level priced at 61.20 for the Core Pure unit, 40.80 for the major units and 20.40 for the minor units.

AS Level continued

Entry Code	Title	Subject Fee (per Candidate)
H018	Law	66.00
H230	Mathematics A	75.00
H630	Mathematics B (MEI)	75.00
H009	Media Studies	66.00
H143	Music	64.75
H155	Physical Education	90.25
H156	Physics A	68.25
H157	Physics B (Advancing Physics)	68.25
H167	Psychology	66.00
H173	Religious Studies	66.00
H180	Sociology	66.00

A Level continued

Entry	Title	Subject Fee
Code	Title	(per Candidate)
H415	Law	101.50
H240	Mathematics A	122.40
H640	Mathematics B (MEI)	122.40
H409	Media Studies	101.50
H543	Music	115.00
H555	Physical Education	159.75
H556	Physics A	104.75
H557	Physics B (Advancing Physics)	104.75
H567	Psychology	101.50
H573	Religious Studies	115.00
H580	Sociology	101.50

Core Maths Level 3 Certificate



	Entry Code	Title	Subject Fee (per Candidate)
	H868	Level 3 Certificate Core Maths A (MEI)	59.75
_	H869	Level 3 Certificate Core Maths B (MEI)	59.75

Legacy AS and A Level



AS Leve

Entry Code	Title	Units Required for Certification	Unit Fee	Overall Cost of Attainment
H017	Biblical Hebrew	1	58.50	58.50
H194	Gujarati	1	58.50	58.50
H195	Persian	1	58.50	58.50
H196	Portuguese	1	58.50	58.50
H197	Turkish	1	58.50	58.50

A Level

Entry Code	Title	Units Required for Certification	Unit Fee	Overall Cost of Attainment
H417	Biblical Hebrew	2	58.50	117.00
H594	Gujarati	2	58.50	117.00
H595	Persian	2	58.50	117.00
H596	Portuguese	2	58.50	117.00
H597	Turkish	2	58.50	117.00

Certification entries are free of charge

GCSE (9-1)



Entry Code	Title	Subject Fee (per Candidate)
J198	Ancient History	62.00
J170	Art and Design	41.25
J176	Art and Design: Critical and Contextual Studies	41.25
J171	Art and Design: Fine Art	41.25
J172	Art and Design: Graphic Communication	41.25
J173	Art and Design: Photography	41.25
J174	Art and Design: Textile Design	41.25
J175	Art and Design: Three-Dimensional Design	41.25
J247	Biology A (Gateway)	41.50
J257	Biology B (Twenty First Century)	41.50
J204	Business Studies	42.00
J248	Chemistry A (Gateway)	41.50
J258	Chemistry B (Twenty First Century)	41.50
J270	Citizenship Studies	40.25
J199	Classical Civilisation	62.00
J292	Classical Greek	62.00
J276	Computer Science	41.75
J310	Design & Technology	39.00
J316	Drama	40.75
J205	Economics	40.25

Entry Code	Title	Subject Fee (per Candidate)
J351	English Language	42.75
J352	English Literature	41.50
J309	Food Preparation and Nutrition	39.50
J383	Geography A	41.50
J384	Geography B	41.50
J410	History A (Explaining the Modern World)	41.50
J411	History B (Schools' History Project)	41.50
J282	Latin	62.00
J560	Mathematics	41.75
J200	Media Studies	40.25
J536	Music	40.00
J587	Physical Education	41.50
J249	Physics A (Gateway)	41.50
J259	Physics B (Twenty First Century)	41.50
J203	Psychology	40.25
J625	Religious Studies	41.50
J125	Religious Studies (Short Course)	27.75
J250	Combined Science A (Gateway)	83.00
J260	Combined Science B (Twenty First Century)	83.00

Project



Entry Code	Title	Level	Subject Fee (per Candidate)
H857	Extended Project	3	58.75
H854	Foundation Project	1	35.25
H855	Higher Project	2	35.25

Fees for late entries, withdrawals, entry amendments and transfer of candidates



We rely on centres to make their entries promptly and accurately. Entries made after the deadline can disrupt tight schedules and affect the delivery of results. We therefore charge late entry fees, both to recover the costs associated with the extra processing and to encourage prompt entries. We will only refund late entry fees in exceptional circumstances.

Series	Entry deadline	• Late entry fees (Stage 1) • Late entries: entry fee + late fee • Option changes*: entry fee + late fee (November: original entry refunded) • Tier changes: free of charge	Very late entry fees (Stage 2) Very late entries: entry fee + very late fee Option changes*: entry fee + very late fee (original entry fee not refunded) Tier changes: entry fee + very late fee (original entry fee refunded)	Withdrawal of entry with a refund until
November 2020 GCE A Level, AS, Core Maths Level 3 Certificate	4 September 2020	5 September 2020 onwards	N/A	2 October 2020
November 2020 GCSE (other than English and Mathematics)	18 September 2020	19 September onwards	N/A	16 October 2020
November 2020 GCSE English and Mathematics	4 October 2020	5 October 2020 onwards	N/A	1 November 2020
January 2021 (Project)	21 October 2020	22 October 2020 to 21 November 2020	22 November 2020 onwards	21 November 2020

Candidate entry	The submission of the four-digit entry code (plus any associated tier/option code) as defined in the OCR Entry Codes booklet or basedata issued by OCR. For unitised schemes, there is a separate entry code for each unit (including coursework units) and also the associated certification entry. An entry fee is charged for each unit or, in the case of linear qualifications, for the overall qualification.
Certification entry	For unitised qualifications only, an entry to indicate an overall qualification grade, where an award is expected for the candidate in the series. There is no entry fee for certification entries.
Late entry (Stage 1)	Charged for each entry received after the entry deadline. This fee is the equivalent of the original entry fee and is charged in addition to the entry fee.
Pirate entry	A pirate entry is an entry created by OCR in response to work submitted for a candidate who has not been formally entered by the centre. Very late entry fees (Stage 2) will be applied (double the original entry fee) in addition to the original entry fee.
Option change*	This can represent a choice between question papers, the method of moderation (postal or OCR Repository) or the choice to carry forward a candidate's results for an internal assessment. See the OCR Entry Codes booklet for further details and entry and option codes. The method of moderation (postal or OCR Repository) or the choice to carry forward a candidate's results for an internal assessment will not be charged a late fee.
Tier change	This changes the level at which a candidate will sit an exam (i.e. Foundation or Higher). For example, changing J560F to J560H would change a candidate's entry for J560 from Foundation tier to Higher tier.
Withdrawn entry	The removal of a candidate entry after it has been received. For medically unfit, bereaved or deceased candidates, entry fees will be refunded up to one week before results are issued.

Transfer of candidate from one centre to another (Please note that this fee is waived for General Qualifications in November 20 only)	Fee (£)
The administration fee for candidates who transfer from one centre to another to sit their examinations	38.00 per candidate

Changes



Version

1.00	Original document with effect from August 2020
1.01	January 21 series dates added
1.02	Fee for transfer of candidates in January 21 series added